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The table given below shows the number of visitors in different days on
different places

il &t 71 ATfcTeRT forfsi=T AT W STEHT-STAT fa1 H SATdehi hi €T I
ENIGIRS

DAYS PLACEA |PLACEB |PLACEC |PLACED
FRIDAY 760
SATURDAY 440

SUNDAY 480

https://t.me/mathbytarunsirmepl
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Question 1- Find the sum of the number of people visited place A on

Friday, place D on Sunday and place C on Saturday.
T |- YRS T TATT A, Tera o T D ST IR T T C 31 ST

T T SATRAT shl GEAT kT AT FTd hiTSTT)

30
A. 2020
B- 2120 DAYS PLACEA- |PLACEB |PLACEC |PLACED
C. 2320 FRIDAY 760
D. 2220 SATURDAY 440

E. None of these SUNDAY 480

https://t.me/mathbytarunsirmepl
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0) Sum = F60+ 640+ 730
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Question 2- If number of people, who went to place E on Thursday 1s 60%

of the number of people, who went to place D on Friday, then what 1s the

average of number of people, who went to place E on Thursday and number

of people, who went to place D on all three days of the week?

T 2- Ffq T ol TAH E IS STed TANTE shl ST IR shl T D T STH
A. 1172, 9T A h! §&AT 3T 60% =, T TER ohl T E ST ATed AT 3ht 64T 3R
B. 1122  GHTE & o1 ol § T D 9 ST aTel ST eht TET 3T 3718 =17 22
C. 1212 30
D.
E.

1322 DAYS PLACEA |PLACEB PLACEC (PLACED

FRIDAY 760
None of these

SATURDAY 440

SUNDAY 480
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500
400
600—
700

None of these

Question 3- Total number of people, who went to all four places on Friday 1s
how much/more less than the total number of people, who went to place B
on all three days together?

T 3- YTsheTR ohl T =TT O ST STt AT 3ht Shed ST, 39 S ohl he
G 9 ford1/3770eR ol 8, ST i faT o ek 97 T B 9 71T 97

DAYS PLACEA T|PLACEB PLACE C PLACE D
FRIDAY 760
SATURDAY 440

SUNDAY 480
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Question 4- Total number of people, who went to place C on all three days is
what percent of the number of people, who went to place D on Friday and
the number of people, who went to place C on Saturday together?

T 4- i1 T T C TSI STed SATHAT shl hed AT, Tshe bl T D T
ST STt SATRAT shl TEAT T IR sl T C YT Teh 1Y ST Tt SRl hl

A. 122.3% G T TohddT TideTd 872

B. 140.3%

C. 150.3% 30

D. 132.3%— DAYS PLACEA |PLACEB |PLACEC |PLACED
FRIDAY 760

E. None of these

SATURDAY 440

SUNDAY 480
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A.
B.
C.
D.
E.

Question 5- If on Tuesday the number of people, who went to place A 1s 300% of

the number of people, who went to place C on Saturday, then find the ratio of the

number of people, who went to place A on Tuesday and the number of people,

who went to place D on Sunday and Saturday together respectively?

T 5- I GITAIE bl T A T S STl AN hl G&IT TR R T C 9T S AT

ST shl E&AT T 300% B, a7 AR ahl T A 9T ST Tl AN shl §&AT 3T Uaai

ST IR AT T D W ST ST A bl H&3T 61 EERICRIGETIS e,

18:13
18:11.=
18:23
18:07

None of these

30

DAYS PLACEA |PLACEB PLACEC |PLACED

FRIDAY 760

SATURDAY 440

480

SUNDAY
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Question 6- 6 years ago age ratio of son and father was 2 * 3 and After 6 year’s

ratio becomes 5 ¢ 7. Find the present age of the son
T 6- 6 TY T8 T S U ST ST shT AU 2 @ 3 9T I 6 I o 1€ U S : 7 &l

ST 81 I3 31 AT ST Tl Shifsr

30 A. 27 years
B. 30 years
C. 32 years
D. 24 years
https://t.me/mathbytarunsirmepl —E. None of these
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Question 7- If the numerator of a certain fraction 1s increased by 20%,/while the
denominator 1s increased by300%, then the ratio of the numerator and denominator

becomehat will be the actual fraction?

fe ek TS 3431 o W07k | 20% Al Ifg el 7, STelfeh 9Tsteh & 300% ot Ifg Bt 2,
1 SHTUTeh ST WTSTeh ST AT 9:50 BT STIAT &, d1 AT (oo 72T T BRI

A. 2/5

00y 300, o, 30 B. 4/5
€ 3/5

OQ/ "
o] e
E. None of these

https://t.me/mathbytarunsirmepl
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The line graph given below shows the profit percent of a company 1n different

years.

e T = ar utw fafs=r ot § Wk st & T Sfsrd i @sriar 2|

Serme-l 65%
3 40%
o 25% 3%
o 15%
2004 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl
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Question 8- If the income of company 1n year 2006 1s Rs 81,00(
Income=Sdting pre S
g’ W then find expendsture of company in same year.

FZ(}MW ECp T8 It AW 2006 T SHU=T T 3T 81,000 T4 §, AT IET I Shu1

T T 1 hifs/|
30
A. Rs 6,000 65%
40%
B. Rs 60,000 250,

C. Rs 50,000 > 15%
D. Rs 40,000
E. None of these 2004 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl



© SBICLERK 2023 @&

) 1357 =3dleoo
IOO"/b:_ oooﬂézé)
&%
<t

600,

https://t.me/mathbytarunsirmepl



@ SBICLERK2023 O

—

Question 9- If the expenditure of company in year 2004 and 2007 is same
and total income of both companies 1s Rs Zl 53000 then find expenditure of

e

company 1n year 2004.

73 I 2004 3 2007 H U T =T GHH § S AT U1 6l el AT
153000 T4 2, a1 99 2004 T Y ShT 3 JTd hifST|

A. Rs 6,000 ofit o e 65%
B Rs 60,000 30 yev, 3% @

C. Rs 50,000 @

D. Rs 40,000

E. None of these -2004 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl
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Question 10- If the profit of company in 2008 1s Rs 195000 then find incom

N

of company in same years.
gfe 2008 | YA T ATH 195000 T 8, O GH I81 H shu-1 shl 3T JTd
Fifer|

Rs 30,000 . Series 1

Rs 300000 30 . 35% 407
40% o 25%
Rs 200000 o 15%
Rs 400000 o
None of these//__ 2004 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl
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0, 65 = % 195000

(‘Z): 7 1000 Incomi~ ?9(;7{—19
65 = Focox (65 (Oi‘/_ 057,
=495000

https://t.me/mathbytarunsirmepl
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Question 11- 1f the income of company 1n 2009 1s 140% of income of
company in 2005. Find income of company 1n 2009 if the expenditure of
company 1n 2005 1s R@

T4 11- TG 2009 T AT 3T 3R 2005 T ST AT 3T AT 140% 2 A1S 2005 H
hUT 3T 2T 48,000 T 7, AT 2009 H et T T T hiTor|

A. Rs 64.000 Series 1 65%
B. Rs 74,000 30 N\ 35% 40%

C—Rs 84,000 e 15%

D. Rs 94,000

E. None of these 2004 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl
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Question 12- What 1s the total.e&psme@f company in all years if the total

expenditure 1n all years 1s R 1,80,000 Ly
T 12- Fic @t a9 | et =5 1,80,000 T &, AT &t 1 H shoHT oAl el g

FT 87
5
QO Series 1 65%,
A. Rs 1,00000 A
B. Rs 2,00000 30 e, 3% A0%
C. Rs 3,00000 o 15%

pA

Q%a inadequate o
E. None of these 2005 2006 2007 2008

https://t.me/mathbytarunsirmepl
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Question 13- In each of the following number series, the wrong number 1s

given, find out that number
997 13- FfTRad Jeieh & @e |, TTeld 9631 a1 715 &, 36 ST ohT Ul

T
3,7, 15(33,)63, 127,255

18 )3 30 A. 7
34| ~ | 342 B
Q I~ 63 . 33
TR~ 5 D. 64
/éx\?ﬂ:}, E. 255
| https://t.me/mathbytarunsirmepl
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Question 14- In each of the following number series, the wrong number 1s

given, find out that number

9 14- FAfTRad Jcies & @e W, TTetd 9631 31 71 &, 36 ST ohT Ul

T 45 9

e e
, .

el Jomg, 5

Beds] = o

https://t.me/mathbytarunsirmepl
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Question 15- In each of the following number series, the wrong number 1s
given, find out that number
99 15- FHAfTRad Jcies & @e |, TTeld 96T a1 715 &, 36 H&AT o1 Ul

T
4.5, 13, 40, 29

|
N Q1 611 20 A. 5
\‘B 23 5 B. 13
g C. 40
D. 230
—E 106

https://t.me/mathbytarunsirmepl
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Question 16- In each of the following number series, the wrong number 1s

given, find out that number
T 16- FHTTREa Jcieh G&AT @l W, TTeTd §&AT 31 71 &, 36 T&AT o1 Ul

SR
4% 6.245, 0.4296

=1 = g 30 A. 440
- ' B. 220
};6@15 C. 55

— —B: 6.245
E. 0.4296

https://t.me/mathbytarunsirmepl
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Question 17- In each of the following number series, the wrong number 1s

given, find out that number

99 17- HAfTRad Tl G&aT @ H, TTetd §6AT a1 71 &, 36 ST T Ud]

L
2)5, 11, 17,23, 29
QW
6

6 30 A

B.

®

D

E

https://t.me/mathbytarunsirmepl
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Question 18- What will come 1n the place of the question mark ‘?” in

the following question?

Aefeiad I 5 99 g 12! o T 9T =T ST

80% of 90 + 12.5% x 512 -99+ 16 =7

30

https://t.me/mathbytarunsirmepl

A. 119
B. 219
C. 211
D. 121
—E. None of these
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Question 19- What will come 1n the place of the question mark ‘?” in
the following question?

fefetiad w1 H w5 foI@ 12" o $AT I T ST Q2

75% of 7500 +42% of 1250)— 18% of 3600 = ?

TUARVIRS-p @),

= 6/56-64y —€. 5502

= SSQl D. 3402
S— E. None of these

https://t.me/mathbytarunsirmepl
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Question 20- What will come 1n the place of the question mark ‘?” in
the following question?
fefetiiad g1 ° s FoIg 12" o TATH O =T ST

63 + 2144 — 48% of 625

2160
2260
2460
2660

None of these

Meviu, were -

Mo oW >

https://t.me/mathbytarunsirmepl
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Question 21- What will come 1n the place of the question mark ‘?” in
the following question?
(ETTREd T | 9% Toig 12" oh T 9 =T ST

4
(12167 + V185193 — /7744 +- 0f 3108 =7

Hm WK 30 A. 1168
B. 1268

C. 1768
D. 2168
E. None of these

https://t.me/mathbytarunsirmepl
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